[image: image3.png]


2


RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


Y3
Yamaha R6 2003-2005
	Kit for left side:
	Kit for right side:


	ID
	Description
	Cat.N
	QTY

	1
	Steel adapter
	578
	1

	2
	Poly.cylind. diameter =16mm
	X10
	1

	3
	Poly.cylind.diameter=  23,5mm
	X15
	1

	4
	Bolt M10X60
	850
	1

	5
	Dural redu.cylinder
	1
	1

	6
	Steel box
	X1
	1

	7
	Dural.cylind. L=5
	16
	1

	8
	Bolt M10x45x1,25
	926
	1

	9
	3M Tape
	3M
	1


	ID
	Description
	Cat.N
	QTY

	1
	Steel adapter
	577
	1

	2
	Poly.cylind. diameter =16mm
	X10
	1

	3
	Poly.cylind.diameter=  23,5mm
	X15
	1

	4
	Bolt M10X60
	850
	1

	5
	Dural redu.cylinder
	1
	1

	6
	Steel box
	X1
	1

	7
	Dural.cylind. L=17
	158
	1

	8
	Bolt M10x55x1,25
	915
	1

	9
	3M Tape
	3M
	1


Instruction for left side:

1. Take off fairing.

2. Take off original bolt M10 from frame.

3. Wher is adapter touching with frame, stick 3M stickers ID.9.
4. ID.2 screwing on  thread on the steel adapter ID.1.

5. Insert steel box ID.6 into the protector, insert bolt ID.4 and under the protector put ID.5. This kit mount into the adapter, from back side screwing polyamid cylinder ID.3.

6. This fitting kit mount on the frame by bolt  ID.8, into the frame insert dural.cylinder ID.7.
7. Put fairnig back on the bike.

Instruction for right side:
1. Take off fairing.

2. Take off original bolt M10 from frame.

3. Wher is adapter touching with frame, stick 3M stickers ID.9.

4. ID.2 screwing on  thread on the steel adapter ID.1.

5. Insert steel box ID.6 into the protector, insert bolt ID.4 and under the protector put ID.5. This kit mount into the adapter, from back side screwing polyamid cylinder ID.3.

6. This fitting kit mount on the frame by bolt  ID.8, into the frame insert dural.cylinder ID.7.

7. Put fairnig back on the bike.

Polyamid nut, which is nut for cash bobbins should be resting on the frame, so that when the fall down don´t occurred spin kit.

We recomanded use the glue on threads. Medium strong.
[image: image1.emf]
[image: image2.jpg]



1

